Ratio to SLD

dN/dp [GeV ]
2

=
(@)

1072

1073

1074

0.5

91 GeV ee

B
Momentum Fraction(charged)

y*/; (I—Iladrorllicl

Rivet 3.1.0, 7.6M events

= ] =
- “ny -
— M. =
— m. 3
— M| ]
- - =
R
= L =
= ¥ =
- 3 7
— m SLD —
= - Sherpa 1.4.0 default = -
— . -
:. I R R | P I I R | P I IR R | P I E R | oy .:
: T T T T | T T T T | T T T T | T T T T | T T :
_S‘Nwm-»-o-o-o-o--mw-*T*""“-v-w-..,._._,.._. i
n 0 _
I .~..’ p—
......... I T R T S A T SR SRR SN R T SR ST SRR R S T
10 20 30 40

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


